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First 15 minutes are allotted for the candidates to read the question

paper.
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Instructions :

iv) After giving answer on OMR Answer Sheet do not cut or use erescr.
whitener etc.

v) Section ‘B’ contains descriptive type questions of 50 marks.

vi) Total 5 questions are there in this section.

vii) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against 1t.

ix) Start from the first question and go up to the last.question. Do not
waste your time on the question you cannot solve.

x} If you need place for rough work, do it on-the left page of your
answer book and cross ( x ) the page. Do not write any solution on
that page. -

xi) Do not rub off the lines constructed in a question of construction.
Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it
1s necessary, otherwise in its absence the solution will be treated
incomplete and wiong,.

g - H
Section - A
( wgfawedT Wy ) _
. (-Multiple Choice Type Questions )
1. gfelw g grfi
A V2 B) V3
© o . - D) 7
17
1. Rational number wil] be
a) V2 B) J3
C 9
€ o © V7
6000/62 1

1)
i)
i)

All questions are compulsory.

This question paper has two sections ‘A’and ‘B’.

Section ‘A’ contains 20 multiple choice type questions of 1 Mur-
each that has to be answered on OMR Answer Sheet by darker.-.
completely the correct circle with blue or black ballpoint pen.
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et fama wlteRt yzaxz-*‘bx-{"(:,a;toa;mm S

(A) TECHETRI, (B)  Naeray
) HftT D) e !
a#0

The shape of the graph of a quadratic equation y=ax2 +bx+ €

will be

(A) Parabola (B)  Rectangular 1
(C) Straight line (D)  Circular

wrfi e -;:-=%, ax+by=a’+b> ¥ y F 9 g

(A) a (B) ab

€ b o) 2 , 1
In the system of equations §=%, ax+by=a’+b%;value of y will be

(A) a (B) ab

€ b o 2 1
gfe e x2—4x+a=0§§5§ﬁ EICCES Hod Erl

(A) a<4 \QQ;\% B) a>4

(C) a<?2 @QQ | (D) ac< 4 1
~If the equation x? —4x+a=0has no real roots then

(A) a<4 (B a>*%

(C) a<2 (D) a<% !
WA 2, 242,342 ... B1 10 a1 gg grm

(A) 242 B) 288 |
€ 200 D) V162 | L

10th term of the sequence v2, 2,/5,3,]5,___ will be

A 232 @) V788

(C) V200 o) /162 l
- | Turn Over

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

822(HZ) 4
6. frefafga groft &1 519 gm

Tl a0 0-5 5-10 10-15 | 15-20
HTgh 2 P! 6 10
(A) 84 (B) 8444
(C) 12:95 (D) 13:05

6. The mean of the following table will be

Class-interval 0-5 . 5-10 10-15 | 15-20
Frequency 2 4 6 10
(A) 84 (B) 8444
(C) 12-95 (D) 13:05
7.  afe AABCWYT ADEF § gg ggz‘faﬁéaﬁiﬁasrwﬁﬁu&
(A) £B=ZE (B] ZA= LF
(C) ZA =2D - (D) 4B =«D
7. If in AABC and ADEF, gg ?g then they will be similar if
(W) <B =B & _~(B) " ZA=/F
. \\Q '
(C) <A =4D § v D] /B =D
8. 'afd (0,4, (o, o]&&(a 0 3Tt Bt w1 wRer g
A5 S B 11
€12 D) 7+f5 !
8.
The perimeter of a triangle whose vemces are (0,4),(0,0) and (3, 0)
will be ’
(A) 5
B) 11 |
€} 12 ' D) 1
9. a3 5
tanA-4 Ed ?ﬁ secﬂa;[ HH E}‘T{
(a 3
: B S
c 3 4
> o 5 1
6000/62 3
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9.

5 Bzzm

if 3tanA=4 then the vajue of sce A will be

2 S
A3 ® 3
. 3 . :
SO o) 3
10, 3R tana +cota=5 & qt tan?a+cot?a H HH &M
(A) 27 . (B) 58 1
© 2 (D) 25.
10. If tano +cota=3 then value of tanZ o +cot’ o will be
(A) 27 | | | 28 1
(C) 23 _ D) 25
11, af sinf=cosecd T 0 <0< /2 a0 FH &M
(A) 0 ' o B) n/4 .
(C) x/2 (D) n |
11. If siné=cosect and 0 < 0 < /2 then the value of 0 will be
@ 0 '- @) -7l |
(€C) =/2 N (413) n .
12. e sin@8-cosB® = CtaRQ& 0+ cos & & A
1 ‘Z§b (B) 1
wor & | : .
3 S o U - L
o 4 49 will b
. will be
15 1fsin®- cos® = 0then the value of SI7 ]9* cos”.
B 75
1 2
W 7
3 D) 1 1
< =
N 480 T QH Ty F
Y@ $ @ 2 ™ H ¥z Q
13. @ﬁﬁoﬁﬁiﬂ“‘;‘ ¥ h
& B
sTe . T (B) 12 il
(C) 158
6000/62 | Turn over
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13. The length of tangent from g point Q to @ circle is 24 c¢m and the distan,,
of Qfrom thc centre of cirgle js 25 cm then radius of the circle will be
(A) 7 cm (B) 12cm
(C) 15cm (D) 245cm |
|4 e w fag P Owaﬁﬁwﬁqﬁmm Pﬁwmwso'ﬂﬂiaﬁmm
gt @ a1 LPOA &
(A) 40° (B) 50°
(C) 70° (D) 80° 1
14. If tangents PA and PB from a point P to a circle with centre ‘0 are inclined
to each other at an angle 80° then £ POA will be

(A} 40° (B) 50°
(C) 70° (D) 80° 1
15. r fiour O g9 & 39 Breawe w1 awa, Rt S 6° R, 7m
(A) 130 x 2 (B) -,56:-: onr?
o 2 o 9
(C) T80 nr (D) 360 x 2nr
15. Area of the sector of an\@le 6° of a circle with radius r will be
D ® . B ’ 2
(A) 1gg* 27 Q@ B)  ogx 2nr
@Q
D _ 1
(C) 180xﬁr% (D) 360 % 27

16. @mmmw4ﬁﬂ%ﬁmmmzoﬁﬁ%lwﬁm“@m
TG g

(A) 20 i3 (B) 10 x @3
(C) 140 n Qeh3 ,' (D) 80 x qft3 1
16. The

diameter of 5 solid pipe is 4 cm whose length is 20 cm. Then the
volume of the metg] used in the pipe will he

(Al 20 nem?® B)  10xem?
{Cl' 140 i d Cm3 ! (D) 80 n Cm3 |
6000/62
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A 2nrt (B)  4ny?

(C) 3nr? D) 6rr2 | ' '
17. Total surlace area of 4 solid hemisphere with radius rwill b€

(A) 21::'2 . (B) Anp?

) 3nr’ D)  6nr? 1

18. ﬁﬁﬁf@ﬂmﬁﬂmmmaﬁm _

aﬂ 0-10 10-20
8

(A 10-29 (B) 20-30 :
(C) 30-40 (D)  40-50

18. The median class of the following table will be =
Class-interval 0-10 10-20 20-30 ['5{37{0—_— 4 :
Frequency 2 3 : 2 18 10
(A) 10-20 (B) 20-23 1

D). 40
19 gm;?;owﬁmu@mm[a:w sowssﬁfﬁmﬁra@ﬁm
weo & STmn 1

© 5 &

. ble are 30 and 35 respectively.
dian of a frequency ta _ _
19. The mean e&d meé ,

Then its mode will be

' (B) 45
(2] :,2 (D) 48 % | ]
20 ;é@mﬁﬁﬁimﬁm.%,fﬁwaﬁmﬁw
| 1
\ D) 1 o l
e urs certainly, then its probablllt}' will be
20. If an event 0cC P
w 2 ® 3
(C) : o 1 1
6000/62 [ Turn gye,.
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8
gug - d

Section - B
( SrufaTeRe T9 )

[ Descriptive question® ) _

1. |l @Ug HIT :

“oHo
(a) A UAEve fafy g 2520 3R 10530 #1

(b)

()

(e

(f)

1. Do all the parts':

(a)

(b)

(c)

6000/62

fg SR fF 2J3 T ki @E 8

qoT HoHo FT@ HITAT
2

2

afe ®18 ABcﬁgGa?rgﬁnaﬁABﬂmACﬁm=DW E W sidwk
AD JAE 2, 5

X S BC 3 i & o fag AR F5= 4
(_1,7)w5(4,-3)ﬂfﬁﬁﬁar@f?@wvaﬁ2:3ﬁ%mﬁa

famgat A

wﬁ-mﬁﬁﬁ%ﬁéﬂﬁzﬁmﬁa‘?ﬁm 2
af2 cosec 0 = Qa’tg@\cmm Smﬂ %1 qH F19 IR 2
frg @%(5—2](64}3&{7—2}@@1@%@%
:zﬁe‘%l | 9

By

Flﬂd the LCM and HCF Df 2520 and_ 10530 by prime factoriz-atiﬂﬂ

method. ]

Prove that 2J3is an irrational number, ]

If a line intersects the Si,des AB and AC at Dand E respectively in
triangle ABC and it is parallel tq the side BC then prove tha
AD AE 7

—_—

AB A
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9
_ e segment
(d] Find the CO‘Urdinates of the point which dijvides the lin€ 2
joining the Points A (-1, 7 ) and B(4,-13 }in the ratio 2 - 3.
2

(e) 1f cosec 0 = 2 then find the value of coto+ sin®
l1+cos® ]
s O

) he yvertice
() Prove that the points (5,-2), (6,4 )and (7,- 2) &€ " 2

an isosceles triangle.
fp? ot @Vl F gor FafiT
4

(a) fearse % Waw g 3x-y=2 @ gx_aysﬁ%aﬁﬁ'ﬁaam
= & 30° gl

b) 4 % 5 fag P & w10 Hex 33 w3 F G
s 3 T T e o B et & R p g w450 B, A SIS
- 4

ﬁﬁmﬁmﬁﬁﬁm:
(c) ﬂﬁﬁﬁﬁﬁsﬁﬁm%a&ﬁmaﬁgélaﬁﬁw%ﬁﬁaﬁmﬁm

mﬁ?ﬁd@:{aﬁwﬁwmélﬁwmﬁmr 4

(d) ﬁ&nﬁﬁaﬁu&AB=Acﬁﬁmaﬁm%BE=Ec%l 4

mmﬂmﬁaﬂa}nao%
S 0-10 | 10-20
Rl 5 x| |
0 #&ﬁmﬁ@mﬂﬁmgrﬁﬁmﬁﬁmﬁwm7ﬁm
g ) sfeen T P )
e [Turnnver
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2 o
(a)

{b}

(cl

(d)

fe)

. ) U two dice are thrown together, find the probability that the sum -of

10

any five pars :
ghow tha! the lincar equations 3x- ¥~ 2 arq 9x-3y=6 has man,
solutions. 4
The angle of elevation of the top of 10 Metre high building from a
point Pon the carth is 30°, There is a 148 On the top of the building
Angle of elevation of the top of the flag [rom the point Pis 45° Find
the length of the flag, 4
The sum of the digits of a two digit number is 9. [f the digits of the

number be interchanged then the new number is 27 more than the

4

original number. Find the number.,

|
In the given figure if AB = AC then prove that BE = EC.

4

. E
If the median of the following frequency table is 28:5 then find the
values of x and\y where the sum of frequencies is 80.

4

Class-interval

0-10

10-20

20-30

30-40

40-350

S0-60

| Frequency

S

X

20

15

Y

S

the appeared numbers on both dice is legg than 7.

3 uﬁ-;mam?ﬁmwssomgam 6 Dhigl lo.ﬁﬁli;
520503,3}@@@@%@1@ AN - 31y Fra S| 6
i::i;:‘&zsuaoﬂw%mlmqﬁmizow f, R ag ofy w2

T, R g foeet T A E LW ay oy 6

5000762
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Il cost of 4 "
Chairs and 7 tables is Rs. 360 and cost of 6 chairs and

10 tables is Rg 5
© 520, then find th . table
scparately. en A € cost of one chair and one ta .
A OR .
person takes a loa, of Rs. 3,250. He paid Rs. 20 in first month and

then increased Rs. |5 i the payment of every month. Then find in how
many months he pajq the loan. 6

T TG T % i @ 3@ O 8 e 3 v ¥ R o @ H
AT BV S 3oﬂm45°ww§ia@&amﬁiﬁéﬁﬂaﬁ“ﬁ
% ¥ 91 gt T By | 6

AGAT

forg ﬁﬁm % [Sin0+c03ec9]2+(Cosﬂ+secB}2=7+tan2El+cot28. ' 6

On seceing from the top of a multi-storeyed ~building the angles of
depression of top and ground of 8 metre high house are found to be
30° and 45° respectively. Find the height of the multistoreyed building

and distance between both the buildings. 6
OR
Prove that (sin{+ cosec ]g +({cos 0+ secd 12 ~7+tan®0+cot’0. 6

%ﬁﬁﬁamﬂqﬁ@%mﬁqaﬁAs=3-sﬁﬁmﬁaﬁiﬁ

$a cp =58 81 6
N
@Q
$

D
HYAr

TR R g g O O R F g 37 I I ) 1 ¥ wreh

ﬁimmm@ngmﬂﬁ@lmaﬁﬁmﬁﬁmma’ﬁﬁﬁhmm
SRS 3 | |
. )
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5 Find the total surface area of the giVCﬂ ﬁgl-ll'f‘ where AB = 35 ecm and

height of the toy CD = 5 ¢m 6
C
/’_\ \
A B
D
OR
If a pipe drained the water from a semi-spherical tank filled by water at
the rate 32

= litre per second, how much time will the pipe take to drain

half of the water of the tank, if the diameter of the tank is.3 m 2 6

——

822(HZ) - 3,28,000

o«
S
=

$
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